
















1. �����：����R=5，	
���
�
����1/1.45 � 1/7.25 ������，������，


�� !�，"�#$%&'#$()*�+�,；

2. ��0,3：��0,�0.5-1rpm，39,，:;<，>?@；

3. B�"C9：
DEFG�HIJKB�，LMN�O
�PQ'EFS��
���TU；

4. 
���：HVMB07 �Y
���Z3[2800rpm，HV MB07 �]
���Z3[1500rpm，^_`
�

���Za[750rpm b�c。

ef MB02 MB04 MB07 MB15 MB22 MB40 MB55 MB75

>?(kg) 10 13 17 33 60 65 105 110

ef MB02-C MB04-C MB07-C MB15-C MB22-C MB40-C MB55-C MB75-C

>?(kg) 15.6 16 22.5 38 71 76 116 120

noe

qste



ou MB02 MB04 MB07 MB15 MB22 MB40 MB55 MB75

vo 0002 0004 0007 0015 0022 0037 0055 0075

wx 02 03 04 05 06 07 08 09

��z TK/1 TK/2 TK/5 TK/20 TK/30 TK/40 TK100 TK100

}~ JWB-X0.25 JWB-X0.37 JWB-X0.75 JWB-X1.5 JWB-X2.2 JWB-X4 JWB-X5.5 JWB-X7.5



8888

���V ����V

���

����:
��

78

5
2

105

1
3
0

4
6

90

M12 1 .5



MB22 MB55 MB75

0.12 0.18 0.25 0.37 0.55 0.75 1.1 1.5 2.2 3 4 5.5 7.5

noe MB 1000-200 - 1-2 1-3 2-4 3-6 5-10 6-12 9-18 12-24 18-36 24-48 32-64 45-92 60-120

665-133 1.5 1.4-2.8 2.1-4.2 2.8-5.6 4.2-8.4 7.0-14 8.5-17 12.5-25 17-34 25.5-51 34-68 45.5-91 64-128 84-168

400-80 2.5 2.35-4.7 3.55-7.1 4.75-9.5 7.1-14.211.8-23.614.2-28.421.3-42.6 28.5-57 42.5-85 57-140 76-152 106-212 149-280

300-60 3.3 3.3-6.2 4.75-9.5 6.2-12.4 9.5-18 15.5-31 19-38 28-56 37.5-75 56.5-113 75-150 99.5-199 140-280 184-368

200-40 5 4.75-9.5 7.1-14.2 9.5-19 14.2-28.4 23.5-47 28.5-57 42.5-85 57-114 85.5-171 114-228 152-304 213-426 286-560

165-33 6 5.4-10.8 8-16 10.8-21.616.2-32.4 27-54 32.4-64.8 48.5-97 70-140 97-194 136-260 172-344 243-486 318-636

125-25 8 7.2-14.410.8-21.6 14.5-29 21.5-43 36-72 43-86 64.5-129 86.5-173 130-260 172-344 236-462 324-658 425-850

80-16 12 10.8-21.616.2-32.4 21.5-43 32.4-64.8 54-108 64.5-129 97-194 130-260 195-389 260-520 345-690 486-972 637-1247

60-12 16 14.5-29 21.6-43.228.5-57.6 43-86 72-144 86.5-173 130-260 192-384 260-520 345-690 460-920 720-1440 850-1700

40-8 25 22.5-45 33.5-67 45-90 67.5-135 112-224 135-270 202-404 270-540 405-810 540-1080 720-14401012-20241327-2654


 � P Q

����

��Hef MB07 MB15MB02 MB04 MB40

�e �f

�

�

H

�

�

�

s

t

MB-2C

� �

� �

(r/min)

G�

�

�

�

H

�

�

�

s

t

MB-C

MB22 MB55 MB75

0.18 0.25 0.37 0.55 0.75 1.1 1.5 2.2 3 4 5.5

noe MB 650-130 - 2-4 3-6 5-10 6-12 9-18 12-24 18-36 24-48 32-64 45-92 60-120

430-86 1.5 2.8-5.6 4.2-8.4 7.0-14 8.5-17 12.5-25 17-34 25.5-51 34-68 45.5-91 64-128 84-168

260-52 2.5 4.75-9.5 7.1-14.2 11.8-23.6 14.2-28.4 21.3-42.6 28.5-57 42.5-85 57-140 76-152 106-212 149-280

200-40 3.3 6.2-12.4 9.5-18 15.5-31 19-38 28-56 37.5-75 56.5-113 75-150 99.5-199 140-280 184-368

130-26 5 9.5-19 14.2-28.4 23.5-47 28.5-57 42.5-85 57-114 85.5-171 114-228 152-304 213-426 286-560

����

��Hef MB07 MB15

�e �f
����

(r/min)
G�� 
 � P Q

MB04 MB40

�

�

H

�

�

�

s

t

MB-C



ef A1 a a0 a1 b b0 b1 C C1 d d1 E E1 e1 f1 G h1 L L2 M P R r r1 S S1 t t1

MB02 18 125 105 160 146 110 110 13 12 14 14 30 25 130 3.5 99 75 130 65 30 162 105 5 5 9 10 16 16

MB04 30 135 105 160 160 120 110 15 12 14 14 30 30 136 3.5 112 90 145 76 30 188 118 5 5 10 12 16 16

MB07 35 150 125 200 190 160 130 15 12 20 19 40 30 165 3.5 125 106 177 63 40 217 126 6 6 12 12 22.5 22

MB15 50 165 140 250 230 180 180 18 16 25 24 50 40 215 4 157 125 223 91 50 248 135 8 8 12 15 28 27

MB22 25 270 230 300 300 245 230 20 16 30 24 60 50 265 4 195 150 268 119 60 300 166 8 8 14 15 33 27

MB40 25 270 230 300 300 245 230 20 16 30 24 60 50 265 4 195 150 268 119 60 300 166 8 8 14 15 33 27

MB55 33 290 250 350 365 315 250 30 20 35 32 70 60 300 5 201 200 319 109 70 392 194 10 10 14 19 38 35

MB75 33 290 250 350 365 315 250 30 20 35 32 70 60 300 5 201 200 319 109 70 392 194 10 10 14 19 38 35

L2

E1

r

t t
1

d

r1

d1

L
G

a0

a

EA1

L3

a0

a

L

G

E A1

R

S

V

P

b0

b

C

h
1

E 1

r

t t
1

d

r1

d1

E

M

a
1

e
1

b
1

G

c1f1

E

M

a
1

e
1

b
1

G
c1f1

R

S1

V

P

L L1 L L3



E1

E

M

a
1

e
1

b
1

G

C1f1

R

S1

V

P
r

t t
1

d

r1

d1

L L2

a
1

e
1

b
1

G

C1f1

L L3

h
1

L2

E1

L

G

a0

a

E A1

L3

a0

a

L

G
R

S

V

P

b0

b

C

h
1

r

t t
1

d

r1

d1

E A1

A1 a a0 a1 b b0 b1 C C1 d d1 E E1 e1 f1 G H h1 L L2 M P R r r1 S S1 t t1

02-C 57 125 105 160 146 110 110 13 12 20 14 30 25 130 3.5 137 120 75 170 65 30 160 105 6 5 9 10 23 16

04-C 59 135 105 160 160 120 110 15 12 20 14 30 30 130 3.5 141 135 90 171 76 30 186 118 6 5 10 10 23 16

07-C 69 150 125 200 190 160 130 15 14 28 19 35 30 165 3.5 158 166 106 209 63 35 215 126 8 6 12 12 31 22

15-C 78 165 140 200 230 180 130 18 14 30 24 45 40 165 4 178 190 125 245 91 45 246 135 8 8 12 12 33 27

22-C 65 270 230 250 300 245 180 25 16 40 24 60 50 215 4 234 230 150 306 119 60 300 166 12 8 14 15 43 27

40-C 65 270 230 250 300 245 180 25 16 40 24 60 50 215 4 234 230 150 306 119 60 300 166 12 8 14 15 43 27

55-C 157 290 250 300 365 315 230 30 20 50 32 82 60 265 5 347 320 200 455 109 82 389 194 14 10 18 15 54 35

75-C 157 290 250 300 365 315 230 30 20 50 32 82 60 265 5 347 320 200 455 109 82 389 194 14 10 18 15 54 35



b1

c
1 c
2

d 1

b2

d2

e2

e1

P M N

L 1

f

L

P M N

e1
f

L1 L3

n d1- 3

R

V

H
2

R

V

A0

A

h

H
0

e 1 A1

L1 L3

n d- 0 B0

B

e2

h

H
0

A 1

L1

H
0

H
2

e 1

A0

A

L

b1

c
1

c
2

d 1

b2

d2

a a0 A1 H0 L1 C n d0 b0 b W P r t d L3

04-C 112 70 6 130 238 12 4 12 150 190 96 184 8 27 24

07-C 131 70 3 166 274 15 4 12 165 210 101 211 8 31 28

¨

�

H

W

V
P

a0

a

C

H
0

r
t

d E A1

L1 L3

n d- 0 b0

b

A A1 A0 B B0 b1 b2 C1 C2 d0 d1 d2 d3 e1 e2 f H0 H2 h L L1 N n n1 M R V

02-2C 120 27 70 130 105 6 4 21.8 12.8 9 19 11 9 40 23 3 90 78 12 75 265 95 4 4 115 115

04-2C 140 25 85 190 150 8 5 31.3 16.3 11 28 14 11 55 30 4 110 90 12 80 295 110 4 4 130 115

07-2C 150 34 90 230 185 10 6 35.3 21.8 11 32 19 11 65 40 4 135 110 14 110 340 130 4 4 165 125

15-2C 200 15 130 250 200 10 8 41.3 27.3 13 38 24 13 70 50 5 170 121 16 125 460 180 4 4 215 135

22-2C 265 43 180 320 250 16 8 59.3 31.3 18 55 28 16 110 60 5 235 151 20 155 540 230 4 4 265 145

40-2C 265 43 180 320 250 16 8 59.3 31.3 18 55 28 16 110 60 5 235 151 20 155 540 230 4 4 265 145

55-2C 345 48 250 380 300 20 10 74.9 41.3 22 70 38 18 140 70 5 280 192 24 185 705 250 4 4 300 170

75-2C 345 48 250 380 300 20 10 74.9 41.3 22 70 38 18 140 70 5 280 192 24 185 705 250 4 4 300 170

85

110



MB02 MB04 MB22 MB55 MB75

0.18 0.37 0.55 0.75 1.1 1.5 2.2 3 4 5.5 7.5

133-26 7.5 9-17 18-35 30.7-58 36.9-70 55-105 73-140 110-210 147-280 196-374 276-526 369-702

100-20 10 12-23 24-46 40.7-77 48.8-92 73-138 97-184 146-277 195-369 260-492 366-693

66.5-

13.3
15 17-31 34.8-63 58-106 69.6-127 104-190 139-254 208-381 278-568 372-678

50-10 20 22.7-42 45-84 75.8-14090.9-168 136-252 181-336 272-504 363-672

40-8 25 27-49 54-99 90-165 108-198 162-297 216-396 324-594

33-6.6 30 30-52 60-104 100-174 120-208 180-313 240-417 360-626

25-5 40 38-64 76.5-129 127-216 153-259 229-388 306-518

20-4 50 43-72 86.7-144 144-240 173-288 260-432 346-576

16.5-3.3 60 48-82 96.6-165 161-276 193-331 289-496 386-662

12.5-2.5 80 58.8-108 117-216 196-360 235-432 352-648

��Hef MB07 MB15 MB40


�PQ（N m）

�

�

H

�

NMRV

_

`

MB-NMRV

����（KW）

�e �f
����

(r/min)
��



HVf 02 04 07 15 22 40 55 75

LMB 99 115 137 173 208 208 249 249

ef A b B C D E F G G1 H I K KA KB KC

NMRV030 54 5 21 80 14 97 32 55 63 40 30 44 54.5 6 4

NMRV040 70 6 26 101 19 121.5 43 70 78 50 40 60 67 7 4

NMRV050 80 8 30 121.5 25 145 49 80 92 60 50 70 90 9 5

NMRV063 100 8 36 147.5 25 174 67 95 112 72 63 85 82 10 6

NMRV075 120 8 40 174 28 205 72 112.5 120 86 75 90 111 13 6

NMRV090 140 10 45 208 35 238 73 130 140 103 90 100 111 13 6

NMRV110 170 12 50 252.5 42 294 � 160 155 127.5 110 115 139 15 6

NMRV130 200 14 60 292.5 45 335 79 180 170 147.5 130 120 151.5 15 6

ef KM KN KO KP KQ L M N N1 O P Q R S t1 V a

NMRV030 68 50 6.5 80 70 56 65 54 29 6.5 75 44 57 5.5 16.3 27 45

NMRV040 87 60 9 110 95 71 75 60 36.5 6.5 87 55 71.5 6.5 20.8 35 45

NMRV050 90 70 11 125 110 85 85 70 43.5 8.5 100 64 84 7 28.3 40 45

NMRV063 150 115 11 180 142 103 95 80 53 8.5 110 80 102 8 28.3 50 45

NMRV075 165 130 14 200 170 113 115 95 57 11 140 93 119 10 31.3 60 45

NMRV090 175 152 14 210 200 130 130 110 67 13 160 102 135 11 38.3 70 45

NMRV110 220 170 14 270 250 142 165 130 74 14 200 125 167.5 15 45.3 85 45

NMRV130 255 180 16 320 290 155 215 180 81 16 250 140 187.5 15 48.8 100 45

KE

8-M12x20

8-M10x18

8-M10x18

8-M8x14

8-M8x14

4-M8x10

4-M6x8

4-M6x11










